Data:

sitka.raw = log-size of 79 Sitka spruce trees grown in normal or ozone-enriched environments. 

(Note: same data of trees.raw just differently organized)

columns are: 

logsize: log-size of 79 Sitka spruce trees  y=log(hd2)

days: Time in days since January 1 1988

chamber (1,2 = normal; 3,4 = ozone): The first two chambers, containing 27 tress each, have an ozone enriched atmosphere, the remaining two, containing 12 and 13 trees respectively, have a normal (control, atmosphere).

ozone  (0 = normal,1 = ozone): normal or ozone-enriched environments
year (88,89): 2 growing seasons

tree id (1.... 79)

Scientific Problem:

Is there a ozone effect on the growth pattern?

We make no attempt to model the overall growth pattern parametrcally, since the overall growth pattern is clearly non-linear.  So, we use a separate parameter βj, for the treatment mean response at the jth time-point,  and concentrate our modeling efforts on the control (normal environment) versus treatment (ozone environment) contrast,  in a single year 1988. 

Reference for scientific problem:

1,  LDA Textbook, page 73 – 74. 

2,  Today Lecture notes. 

In terms of the summary of different type of estimations, please check with today’s lecture notes. 

